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(ETREBEtE4—18%R)]
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(HAZ mg/Q)

W E T H &R i

B A I N AN E ARG R =R % PCB Nzaa|Frg7aa|1,1,1-~) .y

g raykan| (b e LEW | baEw | bEm | bEm [ {LEm[{LEaY TF LN F L) ran=ss
stz 0.00580 F[0.09LAF|0.3LL T 1LLF |1.5LAF[0.3BLF| 1LATF [0.00324F|0.3LL F[0. 184 F| 3LATF [0.3LL°F
R 2. 5 .11|< 0.0005|< 0.0005[< 0.01 |[< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005< 0.01 [< 0.01 |[< 0.01 [ 0.01
R 2. 6. 1< 0.0005|< 0.0005 < 0.01 |< 0.02 [< 0.1 [< 0.04 |< 0.01 |[< 0.1 |< 0.0005< 0.01 [< 0.01 |< 0.01 |< 0.01
R 2. 8.17[< 0.0005 < 0.0005 < 0.01 |[< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005< 0.01 [< 0.01 |[< 0.01 [ 0.01
R 2 .10 .14|< 0.0005 |< 0.0005 [< 0.01 |[< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 |< 0.0005< 0.01 [< 0.01 |[< 0.01 [ 0.01
R 3. 1. 7[< 0.0005]< 0.0005[< 0.01 |[< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005< 0.01 [< 0.01 |[< 0.01 [ 0.01
R 3. 3. 8]< 0.0005|< 0.0005 < 0.01 0.02 |< 0.1 [< 0.04 [< 0.01 |< 0.1 |< 0.0005]< 0.01 [< 0.01 [< 0.01 [< 0.01
(EXRERELV4—251F) (HAL mg/Q)

HEE B & HE

A A Tax KER [Rsval 8y [ AR siires| BEEE | v PCB ~Nzan|Fhosaa|1,1,1-h Lo

) raukan| (L& LEW | bEW | bEm | LEm{LEm[{LEY zFL|=FL o |rmnas
pisnzance 0,005 0 F0.09LA FI0.3LA | 1EAT |L.BEAT[0.38LF| 1LATF 0.00384 F[0.3LAT|0.1LA | 3EAF [0.3L4°F
R 2. 4. 9< 0.0005|< 0.0005 < 0.01 |[< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005< 0.01 [< 0.01 |[< 0.01 [< 0.01
R 2. 7. 7[<0.0005|< 0.0005 < 0.01 |[< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005< 0.01 [< 0.01 |[< 0.01 [ 0.01
R 2. 9. 8[< 0.0005]< 0.0005 < 0.01 [< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005< 0.01 [< 0.01 |[< 0.01 [< 0.01
R 2 .11 12|< 0.0005|< 0.0005[< 0.01 |< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 |< 0.0005< 0.01 [< 0.01 |< 0.01 [ 0.01
R 2 .12 .15[< 0.0005 |< 0.0005 [< 0.01 |< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005< 0.01 [< 0.01 |[< 0.01 [< 0.01
R 3. 2. 3[<0.0005|< 0.0005 < 0.01 |[< 0.02 |< 0.1 [< 0.04 |< 0.01 [< 0.1 [< 0.0005< 0.01 [< 0.01 |< 0.01 [ 0.01
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(EREL2—KRI5) (B mg/Q)
T H &R fE
et i A T L R A R e B s e S
raean| (baw | ke | baw | vam | eaw [ eam [ Law e e
gz 0.005 80 F|0.09LL F|0.3LAF| 1EAF [LBEAT[0.32LF[ 1LAF [0.00324F|0.3LAF|0.1LA | 3LAF [0.324°F
R 2. 4 .28[< 0.0005 [< 0.0005 < 0.005 |< 0.01 |< 0.10 |< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2. 5.25]< 0.0005 |< 0.0005 (< 0.005 [ 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2. 6 .16[< 0.0005 [< 0.0005 < 0.005 |< 0.01 |< 0.10 |< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2. 7.20]< 0.0005 |< 0.0005 [< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2. 8. 7[< 0.0005 < 0.0005 [< 0.005|< 0.01 |< 0.10 |< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2. 8.31]< 0.0005 |< 0.0005 < 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2 .10 .16[< 0.0005 [< 0.0005 < 0.005 |< 0.01 |< 0.10 |< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 | 0.002
R 2 .11 .17]< 0.0005 |< 0.0005 [< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2 .12 .15]< 0.0005 | < 0.0005 [< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 3. 1. 8]<0.0005|< 0.0005 (< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 3. 2.22]< 0.0005 |< 0.0005 (< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 [< 0.002
R 3. 3.22]< 0.0005 |< 0.0005 (< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 [< 0.002
(TEREL 54— I5) (HAAZ mg/Q)
HE A EHE A
wmER |7 AR [mrswa] & [AEsmoea] #E [2 7 pep |MVZER[77 L]
g Naer A U aes Al K /| Maex /A i aex Al Kisex /] Nl aexz) D D
sz 0,005 80 F[0.098A F[0.324 F| 1EAF [1.5EAF|0.3LLF| LEATF 0.00324F[0.3LL F[0.1LLF| 3EAF [0.3B4°F
R 2. 4 .28]< 0.0005 |< 0.0005 |< 0.005 [< 0.01 [< 0.10 |< 0.05 |< 0.005 (< 0.10 [< 0.0005|< 0.003 |< 0.001 [< 0.03 0.002
R 2. 5.22]< 0.0005 |< 0.0005 (< 0.005 [ 0.02 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2. 6.16]< 0.0005 |< 0.0005 [< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2. 8.21]< 0.0005 < 0.0005 (< 0.005 [ 0.02 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2. 8.31]< 0.0005 < 0.0005 (< 0.005 [ 0.03 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 | 0.002
R 2. 9.18]< 0.0005 |< 0.0005 < 0.005 [ 0.02 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2 .10 .13]< 0.0005 | < 0.0005 < 0.005 [ 0.03 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2 .11 . 2]< 0.0005|< 0.0005 (< 0.005 [ 0.02 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 2 .12 .15]< 0.0005 | < 0.0005 [< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 [< 0.002
R 3. 1.18]< 0.0005|< 0.0005 (< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 [< 0.003 [< 0.001 [< 0.03 [< 0.002
R 3. 2.22]< 0.0005 |< 0.0005 (< 0.005 [< 0.01 [< 0.10 [< 0.05 |< 0.005 |< 0.10 |< 0.0005 {< 0.003 [< 0.001 [< 0.03 | 0.002
R 3. 3.29]< 0.0005 |< 0.0005 |< 0.005 [< 0.01 [< 0.10 |< 0.05 |< 0.005 [< 0.10 [< 0.0005 |< 0.003 [< 0.001 [< 0.03 [< 0.002
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